

Certain summation formulas involving generalized harmonic numbers

Edgar Valdebenito

February 15, 2023

Abstract: Here we aim at presenting further interesting identities about certain finite or infinite series involving generalized harmonic numbers.

1. Introduction

The number pi is defined by

$$\pi = 4 \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{2n-1} = 4 \left(1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots \right) \quad (1)$$

The nth generalized harmonic number of order $p \in \mathbb{N}$ is defined by

$$H_n^{(p)} = \sum_{k=1}^n \frac{1}{k^p}, \quad H_0^{(p)} = 0, \quad n \in \mathbb{N} \cup \{0\}, \quad p \in \mathbb{N} \quad (2)$$

when $p = 1$ we have $H_n = H_n^{(1)}$, the nth harmonic number.

The inverse tangent function is defined by

$$\tan^{-1} x = \int_0^x \frac{1}{1+t^2} dt, \quad x \in \mathbb{R} \quad (3)$$

$$\tan^{-1} x = \sum_{n=1}^{\infty} \frac{(-1)^{n-1} x^{2n-1}}{2n-1}, \quad |x| < 1 \quad (4)$$

In this note we give some formulas involving generalized harmonic numbers and inverse tangent function.

2. Formulas

Entry 1. for $m \in \mathbb{N}$, $|u| < 1$, we have

$$\sum_{k=1}^m \frac{1}{\sqrt{2k-1}} \tan^{-1} \left(\frac{u}{\sqrt{2k-1}} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1} u^{2n-1}}{2n-1} \quad (5)$$

Example 1: for $m \in \mathbb{N}$, we have

$$\frac{\pi}{6\sqrt{3}} + \sum_{k=2}^m \frac{1}{\sqrt{6k-3}} \tan^{-1} \left(\frac{1}{\sqrt{6k-3}} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1} 3^{-n}}{2n-1} \quad (6)$$

Entry 2. for $m \in \mathbb{N}$, $|u| < 1$, we have

$$\sum_{k=1}^m \tan^{-1} \left(\frac{u}{2k-1} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(2n-1)} - \frac{1}{2^{2n-1}} H_m^{(2n-1)} \right) \frac{(-1)^{n-1} u^{2n-1}}{2n-1} \quad (7)$$

Example 2: for $m \in \mathbb{N}$, we have

$$\frac{\pi}{6} + \sum_{k=2}^m \tan^{-1} \left(\frac{1}{(2k-1)\sqrt{3}} \right) = \sqrt{3} \sum_{n=1}^{\infty} \left(H_{2m}^{(2n-1)} - \frac{1}{2^{2n-1}} H_m^{(2n-1)} \right) \frac{(-1)^{n-1} 3^{-n}}{2n-1} \quad (8)$$

Example 3: for $m \in \mathbb{N}$, we have

$$\frac{\pi}{4} + \sum_{k=2}^m \tan^{-1} \left(\frac{5(2k-1)}{24k(k-1)+5} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(2n-1)} - \frac{1}{2^{2n-1}} H_m^{(2n-1)} \right) \frac{(-1)^{n-1} (2^{-2n+1} + 3^{-2n+1})}{2n-1} \quad (9)$$

Entry 3. for $m \in \mathbb{N}$, $|r| < 1$, $0 < \theta < \pi/2$, we have

$$\sum_{k=1}^m \tan^{-1} \left(\frac{r \sin \theta}{2k-1+r \cos \theta} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1} r^n \sin(n\theta)}{n} \quad (10)$$

Example 4. for $m \in \mathbb{N}$, we have

$$\frac{\pi}{6} + \sum_{k=2}^m \tan^{-1} \left(\frac{\sqrt{6} + \sqrt{2}}{4(2k-1)\sqrt{2} + \sqrt{6} - \sqrt{2}} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1} 2^{-n/2}}{n} \sin \left(\frac{5n\pi}{12} \right) \quad (11)$$

Entry 4. for $m \in \mathbb{N}$, $0 < x^2 + y^2 < 1$, we have

$$\sum_{k=1}^m \tan^{-1} \left(\frac{y}{2k-1+x} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1}}{n} \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2k+1} (-1)^k x^{n-2k-1} y^{2k+1} \quad (12)$$

Example 5: for $m \in \mathbb{N}$, we have

$$\frac{\pi}{4} + \sum_{k=2}^m \tan^{-1} \left(\frac{1}{4k-3} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{2^{-n}}{n} \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2k+1} (-1)^k = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{2^{-n/2}}{n} \sin \left(\frac{n\pi}{4} \right) \quad (13)$$

Example 6: for $m \in \mathbb{N}$, we have

$$\frac{\pi}{12} + \sum_{k=2}^m \tan^{-1} \left(\frac{1}{(2k-1)(\sqrt{3}+1)+1} \right) = \sum_{n=1}^{\infty} \left(H_{2m}^{(n)} - \frac{1}{2^n} H_m^{(n)} \right) \frac{(-1)^{n-1}}{n} \left(\frac{\sqrt{2}}{\sqrt{3}+1} \right)^n \sin \left(\frac{n\pi}{4} \right) \quad (14)$$

3. References

- [1] M. Abramowitz and I.A. Stegun, Handbook of Mathematical Functions, Dover, New York, 1965.
- [2] M. Karr, Summation in finite terms, J. Assoc. Comput. Mach. 28, 1981.
- [3] D. E. Knuth, The art of computer programming, Vols. 1-3, Addison-Wesley, Reading, Mass., 1968.
- [4] J. C. Lafon, Summation in finite terms, Computing Suppl. 4, 1982.
- [5] J. Riordan, Combinatorial identities, R. E. Krieger, Huntington, N.Y., 1979.
- [6] J. Spieß, Some identities involving harmonic numbers, Math. Comput. 55 (192), 1990.